[ > #pl,p2,p3,p4 inteval 6 30 by H.E: 20-9-21:

> c=0:np:=1:for hfrom1 to 10000 do np := nextprime(np) : PS:= { } :p|l1 ==np:
forjfrom 2 to4 dop|| j := nextprime(p|| (j—1)): PS:= PSunion{p||j—p| (j—1)
}od: ifnopq(PS) =1and PS[1]=6 thenc := ¢ + 1 :if ¢ < 10 then print([PS[ 112,
{4y D74 c]]1=[seq((pll /) [j1.j=1.4)]) fifiod:

[6 T, {4y OFFH, 260] = [2511, 257,,263,, 2694]

6 H {4y DFFE, 1750]= 1741, 1747,, 17535, 1759

6 % {4y DFF, 3310] 3301, 3307,, 33134, 3319

6

6

[ 4]
[ 4]
Y, {4y D7 FH, 5110]=[5101, 5107, 51135, 5119,]
[ 4]
[ 4]

M, {4y DK, 5390] = [5381,, 5387, 5393, 5399
6 2, {4} DFFH,, 6320]=[6311,, 6317,, 6323, 6329
[6 2, (4} D74, 6370]=[ 6361, 6367,, 6373;, 6379,
[6 7, (4} D7F X, 12650] = [ 12641, 12647,, 126535, 12659,
[6 2, {4} D7F £y, 13460] = [ 13451, 13457,, 134635, 13469, ]
[6 7, {4} DFFEHL ), 14750] = [ 14741, 14747,, 147535, 14759,] 0y
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> c:=0:mp:=1:for hfrom 1 to 100000 do np := nextprime(np) : PS:== { } :p||l :=np:
forjfrom 2 to4 dop|| j := nextprime(p|| (j—1)): PS:= PSunion{p||j—p| (j—1)
}:0d : if nops(PS) =1 and PS[1]1=18 thenc := c + 1 :if ¢ < 10 then print([PS[1]%,
{4y DFFEHLc]1=[seq((pll /) [j1,j=1.4)1) fifiod:

[18 (43 O%?f?ij?l] [744531, 74471,, 744895, 74507,

[18 7, {4} DFFH,] = [76543,, 765615, 765795, 76597,

—_

[18 22, {4} D74 = 132893, 132911, 132929,, 132947,]
[18 22, {4} D74, | = 182243, 182261,, 182279, 182297, ]
[18 2, {4} D7 K%)= 202823, 202841, 2028595, 202877,
[18 22, {4} D7 H,] = [297403 ), 297421,, 297439,, 297457,]
[18 22, {4} D74, | = 358793, 358811,, 358829,, 358847, ]
[18 7, {4} D7 K] = [485923, 485941, 485959;, 485977,
[18 22, {4} DM, = [655453, 655471,, 655489;, 655507,]
[18 22, (4} D74, | = [ 735883, 735901, 735919;, 735937, | (2)




